 Central Tendency to Persuade

Consider the following wages for staff at a local factory.  (Remember k means 1000) so 15k means $15 000.

	Staff
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Salary
	15k
	18k
	16k
	14k
	15k
	15k
	12k
	17k
	90k
	95k


Solve for mean, median, mode and range.

Mean:

Median:

Mode:

Range:

Applying your results.

1. Which method best reflects or represents the data?  Explain why.

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

2. If you were the president of the company, which data would you want to use if you were dealing with the union who was asking for pay raises?  Explain why.

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

3. If you were the union leader going to the president asking for more pay for your workers what data would you use?  Explain why.

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

4. If you were the president of the company and wanted to decrease salaries, what data would you use?  Explain why.

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

